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7. Write and solve an inequality for x.
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Multi-Step Solve to findx and y
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in the diagram to prove each statement. ¢4 L I _L
= s21E5 VA ey, ok surei - — >
16. 41__\1\;%1'; 17. £1= /3 NO/OE S 21 3& ﬁf
18, Z2= Z3NONE% 19, 22 = 24 Noy ot swe ¥
allc 4 4
20. /3= /4\es%ine 21, /3= /5 * pince bld and cL2)
! \ies‘ since blic, |
allby corr Ls ALk 5k L5 = then blle bc{,}ho
are = \f g Lines e L unes arell.*

Zame Uine, then &



22. Critical Thinking Are the Reflexive, Symmetric, and Transitive Properties
true for perpendicular lines? Explain why or why not. e
Reflexive: 7 | £Np, a line cannok be )L 4o Hself
Symmetric: If £ | m, then m L 2. \gs! prder doeeny maHov
Transitive: If £ | mand m | n, then £ | n. 2
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24. Geography Felton Avenue, Arlee

Avenue, and Viehl Avenue are all parallel. SR Fottor A :

Broadway Street is perpendicular to L LT R e

Felton Avenue. Use the satellite photo “ClEAD Gx+12yp

and the given information to determine ! f Arlee Ave |« T B9

the values of xand y. > o o
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31. Which inequality is correct for the given diagram?
® 2+5<3x (@J)2x+5 >3« x+5/ |,
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3x<2xt95
X<y
33. If 2 1L m, which statement rrect?
{X’ ms2 = 90° \/ .
B ms1 +ms2 =180°v" A
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